% Kezdeti paraméterek

octave:16> K = 0.14; tau = 0.05; D = 0.22;

% Pade (Matlab által kiszámolt):

octave:17> p_num = 1.0e+04 *[-0.0001    0.0055   -0.1240    1.1270]
p_num =

      -1      55   -1240   11270

octave:18> p_den = 1.0e+04 *[0.0001    0.0055    0.1240    1.1270]

p_den =

       1      55    1240   11270

octave:19> P = tf(p_num, p_den)

Transfer function 'P' from input 'u1' to output ...

      -s^3 + 55 s^2 - 1240 s + 1.127e+04

 y1:  ----------------------------------

      s^3 + 55 s^2 + 1240 s + 1.127e+04 

Continuous-time model.

% Az átviteli függvény első része:

octave:22> G1 = K*P

Transfer function 'G1' from input 'u1' to output ...

      -0.14 s^3 + 7.7 s^2 - 173.6 s + 1578

 y1:  ------------------------------------

       s^3 + 55 s^2 + 1240 s + 1.127e+04  

Continuous-time model.

% Az átviteli függvény második része: 1/(1+tau*s)^3

octave:23> G2 = tf(1, (conv(conv([tau 1], [tau 1]), [tau 1])))   

Transfer function 'G2' from input 'u1' to output ...

                        1                   

 y1:  --------------------------------------

      0.000125 s^3 + 0.0075 s^2 + 0.15 s + 1

Continuous-time model.

% Az egész átviteli függvény:

octave:24> M_nyitott = G1*G2*P

Transfer function 'M_nyitott' from input 'u1' to output ...

                           0.14 s^6 - 15.4 s^5 + 770.7 s^4 - 2.225e+04 s^3 + 3.888e+05 s^2 - 3.913e+06 s + 1.778e+07                     

 y1:  -----------------------------------------------------------------------------------------------------------------------------------

      0.000125 s^9 + 0.02125 s^8 + 1.663 s^7 + 78.66 s^6 + 2475 s^5 + 5.367e+04 s^4 + 8.01e+05 s^3 + 7.922e+06 s^2 + 4.7e+07 s + 1.27e+08
Continuous-time model.

octave:25> M_zart = feedback(M_nyitott, 1, -1)

Transfer function 'M_zart' from input 'u1' to output ...

                            0.14 s^6 - 15.4 s^5 + 770.7 s^4 - 2.225e+04 s^3 + 3.888e+05 s^2 - 3.913e+06 s + 1.778e+07                       

 y1:  --------------------------------------------------------------------------------------------------------------------------------------

      0.000125 s^9 + 0.02125 s^8 + 1.663 s^7 + 78.8 s^6 + 2460 s^5 + 5.444e+04 s^4 + 7.788e+05 s^3 + 8.311e+06 s^2 + 4.309e+07 s + 1.448e+08
Continuous-time model.

octave:26> nyquist(M_zart)
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octave:28> isstable(M_zart)

ans = 1




octave:28> isstable(M_zart)

ans = 1
